10 | -RTACq, PE2 L1 Fau [t Trip- Time:_2.674

g+ -DTACq, OHL1 FaultTrip Time: 2.674

| _DTACq, TE L1 FaultTrip Time: 2.6743

| _DTACq, PE1 L1 FaultTrip Time: 2.6743%L _ _ _ _ _ |

A|—ATlnput PE211 FaultTrip Time: 2.6

900

AT Input, PF1 11 FaultTrip Time: 2.6

900

000

2 -ATlnput, OHI11 FaultTrip Time: 2.68

OI3I]I-6I5|.IOOIII|IIII|IIII|II

-20 -15 -10 -5 0

S 10



10 | -RTACq, PE2 L1 Fau ltTrip|Time: -3.92150 _ _ _ _ __|

| _DTACq, PE1 L1 FaultTrip[Time. ~3.92150 . _ _ _ _ |

g -DTACq,OHL1 FaultTrip Timer -3.92150 _ . _ _ _ |

| _DTACq, TE L1 FaultTrip Time--392150_ _ _ _ _ _ |

A|—ATlnput PE211 FaultTrip Time: -3.91960

AT Input, PF1 1 1 FaultTrip Time: -3.91960

2 -ATlnput, OHI11 FaultTrip Time: -3.91960

AT Input, TE 1 1 FualtTripl Time: -3.91960

OI3I]I-6I6|.IOOIII|IIII|IIII|IIII|IIII

-20 -15 -10 -5 0 S 10




10 | -RTACq, PE2 L1 Fau [tTrip Time: 1.4

g+ -DTACq, OHL1 FaultTrip Time: 1.4]

| _DTACq, TE L1 FaultTrip Time:.1.43

| _DTACq, PF1 L1 FaultTrip Time: 1.43252 _ _ _ _ _ .

8257~ _

A|—ATlnput PE211 FaultTrip Time: 1

44480

AT Input, PE1 11 FaultTrip Time: 1

44480

4480

2 -ATlnput, OHI11 FaultTrip Time: 1.1

AT Input, TE L1 FualtTrip Time: 1.44/

OI3I:II-6I7|.IOOIII|IIII|IIII|I

-20 -15 -10 -5 0

S 10



10 | -RTACq, PE2 L1 Fau ltTrip Time: 2.83560 _ _ _ _ __|

| _DTACq, PF1 L1 FaultTrip Time: 2.83900. . _ _ _ _ .

g | -DTACq, OH L1 FaultTrip Time: 2.83560—_ _ _ _ __

A|—ATlnput PE211 FaultTrip Time: 2.83060

AT Input, PE1 11 FaultTrip Time: 2.83060

2 -ATlnput, OHI11 FaultTrip Time: 2.85060

AT Input, TE L1 FualtTrip Time: 2.85060

OI3I]I-6I8|.IOOIII|IIII|IIII|IIII|IIII

-20 -15 -10 -5 0 S 10




10 | -RTACq, PE2 L1 Fau [tTrip_Time:_2.69507_ _ _ _ _ __

g | -DTACq, OH L1 FaultTrip Time: 2.69507—"_ _ _ _ __

| _DTACq, TE L1 FaultTrip Time.2.695Q7 - _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Time: 2.70980

AT Input, PE1 11 FaultTrip Time: 2.7(0980

2 -ATlnput, OHI11 FaultTrip Time: 2.70080

AT Input, TE L1 FualtTrip Time: 2.70980

OI3I]I-6I9|.IOOIII|IIII|IIII|IIII|IIII

-20 -15 -10 -5 0 S 10




10 | -RTACq, PE2 L1 Fau [t Trip Time:-10.0000 _ _ _ _ __|

| _DTACq, PE1 L1 FaultTrip Time: -10.0000 = ~ _ _ _ _

g+ -DTACq, OHL1 FaultTrip Time: -10.0000 = |

| _DTACq, TE L1 FaultTrip Time:-10.0000_ _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Time: 2.7

560

AT Input, PE1 11 FaultTrip Time: 2.7

560

H60

2 -ATlnput, OHI11 FaultTrip Time: 2.78

AT Input, TE L1 FualtTrip Time: 2.785

OI3I]I-7IO|.IOOIII|IIII|IIII|II

-20 -15 -10 -5 0

S 10



10 | -RTACq, PE2 L1 Fau [tTrip Time: -3.01866 _ _ _ _ __|

| DTACq, PF1 L1 FaultTrip e 30500 _ |

g -DTACq,OHL1 FaultTrip Time:r -3.0I866 _ _ _ _ _ |

| _DTACq, TE L1 FaultTrip Tilme—_-301866_ _ _ _ _ _ |

A|—ATlnput PE211 FaultTrip|Time: -3.01500

AT Input, PE1 1 1 FaultTrip{Time: -3.01500

2 -ATlnput, OHI11 FaultTrip Time: -3.01500

AT Input, TE 1 1 FualtTrip Time: -3.01500

OI3I]I-7I.IoollllllllllIII|IIII|IIII

-20 -15 -10 -5 0 S 10




10 | -RTACq, PE2 L1 Fau [t Trip Time: 2.703

g+ -DTACq, OHL1 FaultTrip Time: 2.703

| _DTACq, TE L1 FaultTrip Time: 2.7036

| _DTACq, PF1 L1 FaultTrip Time: 2.70386 - _ _ _ _ |

A|—ATlnput PE211 FaultTrip Time: 2.7

840

AT Input, PE1 11 FaultTrip Time: 2.7

840

2 -ATlnput, OHI11 FaultTrip Time: 2.71840

AT Input, TE L1 FualtTrip Time: 2. 71840 _ _ _ _ _ |
O ] 3I:II-7I .IOOI 1 1 | 1 11 1 | 1 1 1 1 | 1 11 1 | 1 11 1
-20  -15 -10 -5 0 S) 10



10 | -RTACq, PE2 L1 Fau [tTrip Time: 2.827443

| _DTACq, PF1 L1 FaultTrip Time: 2.82723"

A|—ATlnput PE211 FaultTrip Time: 2.84240

AT Input, PE1 11 FaultTrip Time: 2.84240

2 -ATlnput, OHI11 FaultTrip Time: 2.84P40

AT Input, TE L1 FualtTrip Time: 2.84440

3173.00

OIIII|IIII|IIII|IIII|IIII|IIII

-20 -15 -10 -5 0 S 10



10 | -RTACq, PE2 L1 Fau [tTrip Time: 1.43833 _ _ _ _ __|

| _DTACq, PF1 L1 FaultTrip Time: 1.43833. . _ _ _ _ .

g | -DTACq, OH L1 FaultTrip Time: 1.48833~"_ _ _ _ __

| _DTACq, TEL1 FaultTrip Time: 143833 — _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Time: 1{45080

AT Input, PE1 11 FaultTrip Time: 1{45080

2 -ATlnput, OHI11 FaultTrip Time: 1.45080

AT Input, TE 11 FualtTrip Time: 1.45080

OI3I]I-7I4i.IOOIII|IIII|IIII|IIII|IIII

-20 -15 -10 -5 0 S 10




10 | -RTACq, PE2 L1 Fau [tTrip]

g | _DTACq, OH L1 FaultTrip ]

| _DTACq, PE1 L1 FaultTrip[Time. -3.840806 _ _ _ _ _ |

Time: -3.84686 _ _ _ _ __

me. -s.o04600 _ _ _ _ __]

| DTACq, TF L1 FaultTrip

Ime_-s.64bcb_ _ _ _ _ _ ]

A|—ATlnput PE211 FaultTri

Time: -3.84480

AT Input, PE1 11 FaultTri

Time: -3.84480

Time: -3.84480

2 -ATlnput, OHI11 FaultTriy

AT Input, TE L1 FualtTrip

OI3I]I-7IS|.IOOIII|IIII|I

Time: -3.84480 _ _ _ _ _ |

-20 -15 -10 -5

0 5 10



10 | -RTACq, PE2 L1 Fau [tTrip Time: -3.23703 _ _ _ _ __|

| DTACq, PFL1 L1 FaultTrip Tme 323703 |

g | _DTACq, OH L1 FaultTrip T|Mer 323703 __

| DTACq, TF L1 FaultTrip Ti

me: -o.25(0s_ ]

A|—ATlnput PE211 FaultTrip

Time: -3.23380

AT Input, PE1 1.1 FaultTrip

Time: -3.23380

Time: -3.23380

2 -ATlnput, OHI11 FaultTrip

AT Input, TE L1 FualtTrip Time: -3.23380 _ _ _ _ _ |
O ] 3I:II-7I6|.IOOI 1 1 | 1 11 1 | 1 1 1 1 | 1 11 1 | 1 11 1
-20 -15 -10 -5 0 S 10



10 | -RTACq, PE2 L1 Fau [tTrip Tim

| DTACq, PF1 L1 FaultTrip Tin{e=T.72870

g | _DTACq, OH L1 FaultTrip Timg =L.72876

e: -1.72876

| _DTACq, TE L1 FaultTrip Timg_-I.72876_ _ _ _ _ _ |

6F- - -
A|—ATlnput PE211 FaultTrip Time: -1.72260
AT Input, PF1 1 1 FaultTrip Time: -1.72260
2 -ATlnput, OHI11 FaultTrip Time: -1.72260

AT Input, TE L1 FualtTrip Time: -1.72260 _ _ _ _ _ |

0 |3|:||-7|7|.(|)0||||||||||||

-20 -15 -10 -5

0 5 10



10 | -RTACq, PE2 L1 Fau [tTrip Time: 3.89614 _ |

| _DTACq, PE1 L1 FaultTrip Time: 3.89614 _ _ _ _ _ |

g+ -DTACq, OHL1 FaultTrip Time: 3.89614[~ |

| _DTACq, TE L1 FaultTrip Time:3.89614 [~ _ _ _ _ _ |

A|—ATlnput PE211 FaultTrip Time: 3.913P0

AT Input, PE1 11 FaultTrip Time: 3.913P0

2 -ATlnput, OHI11 FaultTrip Time: 3.91320

AT Input, TE 11 FualtTrip Time: 3.9132

OI3I]I-7I8|.IOOIII|IIII|IIII|IIII|IIII

-20 -15 -10 -5 0 S 10




